Holidays A: Examiner's Report
Q1.
 

Candidates showed understanding of what was required with many candidates scoring 4 or 5 marks. Most of these candidates obtained £1113 cost for Jetstream Airlines but had difficulty working out the 5% discount for Highway Airlines. Some candidates did not use the costs for the correct week. Candidates should be encouraged to circle the correct week on the given tables to help them with their calculations.

Q2.
 

The vast majority of students managed to score in at least some marks this question. Some lost marks because they used 1.2 rather than 120 in their calculation in parts (a) and/or (b). Others divided when they should have multiplied in part (a) and multiplied when they should have divided in part (b). Similar errors were made in part (c) although some scored one mark for a partially correct conversion.

Q3.

This question was very well attempted. Many candidates had a good structure to the way they presented their answers and invariably these candidates tended to be the most successful. The majority of candidates identified the correct flight costs for the adults and worked out either the total cost for two adults one way or for one adult there and back.

 The biggest stumbling block proved to be calculating a child fare as 75% of an adult fare. Many candidates did this incorrectly, sometimes showing no method, and others tried to calculate 75% of the cost of two adults one way despite the fact that this made the child fare more expensive that the adult fare. Some candidates correctly found the percentage but then went on to subtract it from the total (taking the child fare to be 75% off an adult fare rather than 75% of the adult fare). A surprising number of candidates tried to deduct the 75% in some way from the total cost of the adults, making the holiday cheaper if a child went too than if only two adults went. 

Many candidates did get as far as finding a total cost for the flights but the final mark was often lost, either because no answer was given to the question ('Do they have enough money for the flights?') or because the total cost was given without a £ sign.

Q4.
 

It was encouraging to see some good, clear responses worthy of full marks. However, using either multiplication or division for both conversions was frequently seen; one correct method or answer allowed for a subsequent mark for the subtraction. Most converted both given amounts to £s but some converted the 126 euros to £s and this amount to $, subtracting $165.24 from this value, for two marks. Fewer then realised the need to convert this value back to £. Some students floundered, using the given values in a variety of flawed ways, producing amounts that could not exist in any currency. However, most students did attempt something.

Q5.

Part (a) was very well answered with most candidates being able to read off the value. 

Part (b) was not done so well as many candidates were unable to give the answer to a sufficient degree of accuracy. 

Part (c) required some thinking and insight. The plan adopted by many of the successful was to get to 64 from 10 × 6 + 4 and read off the appropriate values from the table. Also commonly seen were 20 × 3 + 4 and 8 × 8. There were several other successful strategies. 

Q6.
 

From a functional maths point of view, very many candidates showed they cannot tackle such a task as this one successfully. Generally, finding one third of £24 was no problem, although a minority of candidates thought that finding 30% would do or gave the wrong value for 24 ÷ 3. Similarly, many candidates were successful in finding 60% of £12 or £24, usually by dividing by 10 and multiplying by 6. However, although the mathematical techniques were carried out competently, there was an enormous lack of attention on what to do with the two figures already calculated. A very common error at this stage was to work out the sum of the discounts. Less common, but still frequent, was to added the adult discounted price to the discount for the children. This lost half the marks for the question. The common parlance of 'off of ' does not help students in this! A significant number worked out the cost for 1 adult and 1 child and many left the otherwise correct answer as £25.6.

Q7.

Candidates could either use the graph or the given rate for conversion. Most preferred to use the rate, though poor arithmetical process when multiplying or dividing by 30 again spoilt many answers. The question asked for total costs to be compared, so candidates who only compared the costs of individual items could not gain the full marks. Those usually the graph sometimes made errors in reading off the values from the scale, even though these led to exact values. Examiners had difficulty in awarding marks where presentation was poor, and it was difficult to isolate sound working as evidence for the award of method marks.

Q8.

Part (a) of this question was well attempted with most candidates writing in 4 values, however, their values were often incorrect. The zero value caused the most problems with a common incorrect response being €0.20. €35 was another common incorrect response for £30.

Part (b) was the least successful part of this question. Although many candidates did score B2 for a fully correct line, the scale of two 2mm squares to 1 unit caused problems for many others. Having incorrect values in part (a) also prevented students achieving B2 but they did, in some cases, achieve B1 for plotting their points. A few candidates, whether they had responses in part (a) or not left part (b) blank.

Despite problems in part (b) some candidates still went on to gain M1A1 in part (c) realising that they could use £25 = €30, or any other given value, from the table though often correct answers of 300 were not supported by any working out. Several candidates gained M1 for 1.20 × 250 but did not arrive at 300 for the correct answer.


	

	Question
	Working
	Answer
	Mark
	Notes

	*1
	
	2 × 462 + 251  = 1175  

0.95 × 1175 = 1116.25

2 × 485 + 218 = 1188     

1188 – 75 = 1113.00
	Jetstream
	5
	M1for identifying correct costs for either Highway Airlines or Jetstream Airlines

M1 for attempt to calculate the costs for the family 

e.g. 2× “462” “251” or 2 × “485” + “218”

M1 for a correct method to work out the discount for one company e.g. 0.95 × “1175” or 0.05 × “1175” or “1188” – 75 

A1 for (£)1116.25 and (£)1113.00

C1 (dep on M1) for calculations clearly identified with each airline and correct decision from their figures

	2 
	(a)
	250 × 120
	30 000
	2
	M1

A1

	
	(b)
	9000 ÷ 120
	75
	2
	M1

A1 

	
	(c)
	
	7200
	2
	M1 for 50 × 1.2 × 120 or 50 × 1.2 or 60  or 1.2 × 120 or 144

Allow 
[image: image1.wmf]50120

120

´


A1

SCB1 for 5000 or  
[image: image2.wmf]50120

1.2

´

  oe or 41.6(66666) × 120 oe with 41.6(66666) rounded or truncated to at  least 3SF

	*3
	
	
	Yes
	6
	B1 283 or 285

M1 for working out the total cost of 2 adults one way or 1 adult both ways

M1 for a correct method for calculating a child fare as 75% of an adult fare for one or both journeys

M1 for working out the total cost for 2 adults and 1 child

A1 for 1562 or 38

C1 dep on a previous M1 for correct conclusion ft for their total cost (identified) provided it is written with a £ sign.

	4
	
	
	10.14
	4
	M1 126 × 0.89 (= 112.14) 

M1 165.24 ÷ 1.62 (= 102) 

M1 for "112.14" − "102" dep on both previous M marks “112.14” denotes ft from first M1 “102” denotes ft from second

A1

	5
	(a)
	
	10
	1
	B1 cao 

	
	(b)
	
	15
	1
	B1 14.8 – 15.2

	
	(c)
	(a) ÷ 6 × 64    or 

Read from graph and  ×
	103 to 110


	2
	M1 for valid method e.g. Read from £8 and × answer by 8 

£

£

Calc

CHF

8

8 × 13 

(104)

6

4

6 × 16.5 + 6.5

(104.5)

16

4 × 26.5

(106)

20

4

3 × 33 + 6.5

(105.5)

A1 for 103 – 110

	6
	
	
	25.60
	4
	M1 for a correct method to find [image: image4.png]


 of 24 (= 8) or [image: image6.png]


 of 24 (= 16)

M1 for a correct method to find 60% (= 7.2)  or 40% (= 4.8) of 12 or 60% (= 14.4) or 40% (= 9.6) of 24 

M1 (dep on at least M1) for a method to find the sum of their discounted adult ticket + 2 × their discounted child ticket

A1 25.6(0)

	*7
	
	London: 

     £15,   £34,  £26 (£75)  → 450, 1020, 780 (2250) KC

Prague:    

450, 750, 810 (2010KC)                     → £15, £25, £27 (£67)

£ to KC is × 30;  

KC to £ is ÷ 30.


	Yes.

Cheaper in Prague

(More in London)
	5
	M1 conversion method (× or ÷ as appropriate) or evidence of use of graph (seen, or implied, by at least lines or evidence of conversion by marks on axes) for at least one figure.

M1 (dep) conversion applied to 3 figures or totals (converted figures must be stated, marks on graph insufficient)

A1 converted figures shown (all three individual items or totals converted correctly;  NB: no tolerance on graph)

M1 totalling converted amounts

C1 (dep on at least M1) comparison of “totals” and correct conclusion e.g. “2250KC”>”2010KC”, “£75”>”£67” so cheaper to buy in Prague.

	8
	(a)
	
	0, 1.20, 6, 12, 18, 24, 30, 36
	2


	B2 for a fully correct table

[B1 for 2 correct entries]

	
	(b)
	
	Single line from     (0, 0) to (30, 36)
	2


	B2 for a fully correct graph

[B1 for at least 4 points plotted correctly or for a single line from (0,0) or for a short straight line segment joining any two correct points]

	
	(c)
	250 × 1.2

OR

30 × 10 from table

Or for values read from the graph and used
	300
	2
	M1 for correct use of any point the table or any point on the graph, e.g. 250 × 1.2 or 30 × 10 oe 

A1 ft for 300


National performance data from Results Plus
	Qu
	Spec
	Paper
	Session
YYMM
	Qu
	Topic
	Max score
	Mean % all
	ALL
	A*
	A
	B
	C
	D
	E
	F
	G
	U

	1
	5MB1F
	1F
	1311
	Q14
	Percentages
	5
	73
	3.65
	 
	 
	 
	4.25
	4.43
	2.78
	2.14
	1.11
	0.00

	1
	5MB1H
	1H
	1311
	Q06
	Percentages
	5
	92
	4.62
	4.88
	4.90
	4.80
	4.72
	4.41
	3.73
	3.71
	4.00
	0.00

	2
	4MA0
	1F
	1501
	Q13
	Proportion
	6
	76
	4.55
	
	
	
	5.51
	4.86
	3.86
	2.92
	1.08
	0.00

	3
	5MB1F
	1F
	1303
	Q15
	Money calculations
	6
	64
	3.82
	 
	 
	 
	5.35
	4.65
	3.72
	2.85
	2.17
	0.75

	3
	5MB1H
	1H
	1303
	Q05
	Money calculations
	6
	85
	5.08
	5.73
	5.63
	5.37
	5.04
	4.58
	3.29
	 
	 
	2.00

	4
	4MA0
	2F
	1405
	Q20
	Proportion
	4
	54
	2.14
	 
	 
	 
	3.05
	2.13
	1.52
	0.65
	0.12
	0.00

	4
	4MA0
	2H
	1405
	Q06
	Proportion
	4
	83
	3.33
	3.81
	3.45
	3.01
	2.43
	1.69
	0.84
	 
	 
	0.26

	5
	5MB1F
	1F
	1211
	Q11
	Interpret conversion graphs
	4
	60
	2.40
	
	
	
	3.11
	3.24
	2.27
	2.20
	2.00
	1.20

	6
	1MA0
	1F
	1406
	Q21
	Percentages
	4
	28
	1.13
	 
	 
	 
	2.47
	1.80
	1.13
	0.54
	0.23
	0.08

	6
	1MA0
	1H
	1406
	Q04
	Percentages
	4
	62
	2.48
	3.43
	3.14
	2.85
	2.33
	1.46
	0.60
	 
	 
	0.23

	7
	5MB2F
	2F
	1103
	Q12
	Interpret conversion graphs
	5
	25
	1.27
	
	
	
	
	
	
	
	
	

	8
	5MB2F
	2F
	1203
	Q11
	Interpret conversion graphs
	6
	56
	3.35
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